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1. WISTHUDT RV SIhEAATRRETT FHHOT=T egid "igaT?

(1) I eifaT (2) Ve ArefeT

(3) THFATET FHHT (4) ST ST

Who among the following gave the Theory of demographic Transition?
(1) Charles Darwin (2) Frank Notestein
(3) Alexander Fleming (4) Jeans Jacques

PR W o h o h
2. Al YAdl h2AT UhIR HIsTAT Siid?

(1) T g 2) W IRA Fe
(3) =X IRA fheEeR (4) TR ATEr
How is population density measured?

(1) per hectare (2) per square foot
(3) per square kilometer (4) None of these

3. SIREEARTET ShATET [dH=T e o [r=gifehd &hor 3Tme.
(1) IedT STHEY 30T HAT ShHeT a1
(2) I =T AT G &
(3) FHHT ST 30T g a°
(4) TRIHIRT HTETET ATET
The third stage of demographic transition is marked by .
(1) Declining birth rate and low population growth
(2) High birth and death rates
(3) Low birth and death rates
(4) None of the above

4. 2011 <A SIPFELER, IRATAG T&Y 0T AEGT ATGRAAT S0 [hdl B TTe?
(1) 14.96% (2) 15.23%
(3) 17.98% 4) 16.68%
According to the 2011 census, what is the difference in the male and female literacy rates
in India?
(1) 14.96% (2) 15.23%
(3) 17.98% (4) 16.68%
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5. WOIHUS HiUTd SIHIEATRTHT ATUSS BIhESAT el 2% 3adrd?

(1) Tafts Sge i STeR (2) “ERTH 95 AT s WS

(3) M9 wWieiaR fer usi=g &% 4 N=Ts WSiae fer e

Which one of the following demographic parameters represents the population growth rate?
(1) Natural change and crude birth rate (2) Natural change and net migration

(3) Net migration and fertility rate (4) Net migration and birth rate

6. VRATAIS ST ShEHST YR HRBRT HIvTd FAST IIEd?
(1) FIRSehT ST HAHT FHSISTION HATHT
(2) RRreqor HATHT
(3) B 41T
4) IRFT AT
Which ministry of Government of India looks after Census operations in India?
(1) Ministry of Statistics and Programme Implementation
(2) Ministry of Education
(3) Ministry of Home Affairs
(4) Ministry of Health

7. WIHGIH! HOT SIHOET 9Y ARATAT HIAASATRTEYT FagMTd  WelaHIsis’ U
MBES SA?
(1) 1991 (2) 1951
(3) 1901 4) 1921
Which of the following census years is known as the "Great Divide" in the demographic
history of India?
(1) 1991 (2) 1951
(3) 1901 4) 1921

8.  3TVH JIdT TUTST .
(1) 9 M5 ST, (2) THITATSS BIOTRT .
(3) ST=IGhes dTeh TR IEMAT 31T Jd araol, (4) T T,
Infant Mortality means .
(1) Still birth. (2) Death due to abortion.
(3) Death of baby born within one year. (4) Fetal death.
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9. Ifal~h ST FITS HI?
(37) SZTAT FHTIATIT ST BIeheeAT 3.
@) TIYOT §THAER BIha=r 9= Il
(@) =RARTR ATTTHIRT Brha=T Jo-d HHT 3T
(€) BIHHASAT TR a3 [JeRT T 8ot

T 3TR-
(1) %h F (2) 3 MOT §
(3) 3, ¥ for & (4) TWF I

What is Surplus Population?

(A) Having more population than the country's resources.

(B) Population burden on nutritional capacity.

(C) Natural resources are less than the population.

(D) Lack of economic growth compared to population growth.
Answer Options-

(1) Only A (2) A and B

(3) A, B and C (4) All of the above

10. YRATAIS HHEE WaT TolSyHTol 3TTe.
(37) FTETRAT 74.04% 3TE.
@) IRRART ATH 70 3R,
@) T SrhE=T dSuT ST HIHeTH 3R,
@) 5T IO 943 31T=.
FRIHUST HIUTAT GATT AT 3R,
(1) 37 snfor & (2) ¥ O &
(3) 3, & 0T & 4) 3,9, H,

The population structure of India is as follows.

(a) Literacy is 74.04%. (b) Average life expectancy is 70.
(c) Half of the population is young and efficient. (d) Sex ratio is 943.

Which of the above options is correct?

(1) A and B (2) B and C

(3) A, B and C 4) A B, C, D
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11. 99T Grodd< Inaed=a JS9Tdies HioTd/dr [/ I 3e/d?

(37) BIHEAT AT ST JTed.

@) U o Jofie ared.

g 3R

(1) %eh 3T (2) ®h &
(3) 3T AMOT & (4) TTYHT ATTET

Which statement(s) of Thomas Malthus regarding population is/are true?
(A) Population increased in geometrical progression.

(B) Food grains increased in arithmetic progression.

Answer Options-

(1) Only A (2) Only B

(3) A and B (4) None of these

12. BIhdEd 956 99T UMY HIVTd Geeh HROMA 3dTa?

(37) STHETHAT @) FIAT

(%) Teremmos (@) SR
T 3TR-

(1) 37 T 2) T 3T &%
3) AT, H (4) TISTHr 9
What factors lead to changes in population?

(A) Fertility (B) Mortality

(C) Displacement (D) Migration
Answer Options-

(1) A and B (2) B and C

3) A, B, C (4) All of the above

13. ST HHUSAT 9RO AR TS RO HIUTHT Has el gidr

(1) ST, TEgATSAT (2) ST HEOTRIA

(3) 7. TH. T, WEATIT (4) 7. gHreT =T

Who was elected as the head of the National Population Policy Committee?
(1) Dr. Ahluwalia (2) Dr. Karunakaran

(3) Dr. M. S. Swaminathan (4) Dr. Manmohan Singh
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14. WSS FRoTd fum/faum aiva smg/smed?
(37) 2011 I STETOMT 8 FST 15 o7 F WA= a<=l 7 a7 SR 2l
(@) STTOTAT ShIIST 1948 T THT HI0ATd J3T TRATET UgsT STRTOET 1951 T IR ISoiT.
(@) STRTUHE! FY0T SR & e IRBRAT I HATGATT 3T,

g 3TR-
(1) 3T 3nfor & (2)  OT &
(3) Fh 3 (4) TSUDT T

Which of the following statement/s is/are correct?

(A) The 2011 census was the 15th consecutive census and the 7th since independence.

(B) The first census of India was conducted in 1951 with the passing of the Census Act
1948.

(C) The overall responsibility for census rests with the Ministry of Home Affairs of the
Central Government.

Answer Options-

(1) A and B (2) B and C

(3) Only A (4) All of the above

15. TSI ARG 9IR0T, 2000 < 3IEE 3.
(30 AT g & U 1 S fordd STHAR! 100 47 Glosl 0T e &% U g9TR forad
STHIRT 30 AT @Tosl o7,
@) IS T gfaes anfor o7 ot
@) 9T g R 1 I fS/[Ed STHERT 200 =T Glel A0 o9, a8 U6 o feed
STHERT 30 T&IT HAT HoT.

I ITR-
(1) Weh 3T 3fIfoT § (2) Hh & AIfoT §
(3) Wt 3T (4) Bh &

The National Population Policy, 2000 aimed to

(A) Reduce maternal mortality rate below 100 per 1 lakh live births and infant mortality to
below 30 per one thousand live births.

(B) Prevent and control communicable diseases.

(C) Reduce maternal mortality rate below 200 per 1 lakh live births and infant mortality to
below 30 per one lakh live births.

Answer Options-

(1) Only A and B (2) Only C and B

(3) Only A (4) Only C
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16. WTHIHUDT HIUTAT TSl S[eae AT

(1) BR=moT : T iR 877 (2) AfeTg : T IUTR 985
(3) 3T T : 5T TR 992 (4) FRe : f5T IUTR 1084
Which of the following is not well-matched?

(1) Haryana : Sex ratio 877 (2) Tamilnadu : Sex ratio 985
(3) Andhra Pradesh : Sex ratio 992 (4) Kerala : Sex ratio 1084

17. 2011 AT STPVHIAR, ISAS TS JOTRMET A9 Id3AT H i 3TTe?
(1) e > AMMHSATE > ATY T > BARTIS
(2) PS> BUETS > Y U3 > AL Tz
(3) HRB > Y YT > BARPIS > ANHSATG
(4) TS > BARDIS > [ER > dTiHes-Tg
According to Census 2011, what is the correct descending order of sex ratio in states?
(1) Kerala> Tamil Nadu> Andhra Pradesh> Chhattisgarh
(2) Kerala> Chhattisgarh> Andhra Pradesh> Madhya Pradesh
(3) Kerala> Andhra Pradesh> Chhattisgarh> Tamil Nadu
(4) Kerala> Chhattisgarh> Bihar> Tamil Nadu

18. 2011 &AT SIRTUHIER, WSIGUHl YRAT S AaTd SR BIhdeAT TGS el 28 hioTd
%.

(1) Tar EIEIG

(3) 4% (4) SFTgE

As per census 2011, which of the following is the most populated Metro City in India?
(1) New Delhi (2) Kolkata

(3) Mumbai (4) Bengaluru

19. 2011 ST FTPOHIAR, 0 - 6 TY TAPTETAIS BIhIEAT HERTETAS THUT SAIeheied=aT
TR,

(1) 12.9% (2) 11.9%
(3) 9.9% ) 11.1%
As per 2011 Census, the population in the age group of 0 - 6 years constitutes of

the total population in Maharashtra.
(1) 12.9% (2) 11.9%
(3) 9.9% 4) 11.1%

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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20. 2011 AT SIRTUHIAR, TERTETAT THUT BIhieaAT e Il cean 3e?

(1) 31.16 (2) 45.22

(3) 48.5 (4) 42

As per 2011 Census, percentage of urban population to total population of Maharashtra is
(1) 31.16 (2) 45.22

(3) 48.5 (4) 42

21. 2011 <7 SIPVHIAR, YRATG Fald Sed ATERAT &% AGST hx@lId J<3T hioTdl

3T?
(1) S<rTS 2) FEST

ORIEE (4) A - AR
According to 2011 census, the Union Territory in India with highest literacy rate is:
(1) Chandigarh (2) Lakshadweep
(3) Pondicherry (4) Andaman - Nicobar
22. 11 T 1987 ASH SOl SHHOSAT_  &HEr AT, BUH 11 S & Qo SIeideh
BIHTEAT [T T ATSRT hedT STl
(1) 700 (2) 600
(3) 400 (4) 500
On 11 July 1987, the world's population reached ~ crore, hence 11 July is celebrated

as 'World Population Day'.
(1) 700 (2) 600
(3) 400 (4) 500

23. 2011 AT SIRTUIAR, S&T Hiel BRI GISUMRT AT HIOTAT?

(1) 3R U3, [WER, TERTY (2) IR VT, ISR, WER

3) WER, 71 Wz, NERTE (4) IR v, WER, ufed 9
According to the 2011 census, which states have a population of over 10 crores?

(1) Uttar Pradesh, Bihar, Maharashtra (2) Uttar Pradesh, Rajasthan, Bihar
(3) Bihar, Madhya Pradesh, Maharashtra (4) Uttar Pradesh, Bihar, West Bengal
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24, WHSUDT HIoTd UM SIhHSATITIS SR a7 oo g0 Ha?

(1) 15-64 TY FARTSTIIG AT 36 SIhuEAT.

(2) 15 TIETSIS TAPTESTAIS ATl 3T SIS,

(3) 64 TGS TANTSTAS AT I BIh<iwAT.

(4) AT THOT I SIehiwAT.

Which of the following statements best describes the term 'demographic dividend'?
(1) Its high population is in the age group of 15-64 years.

(2) Its high population is under 15 years of age.

(3) Its high population in the age group above 64 years.

(4) Its overall high population.

25. 2011 <A SIRUHTAR, GG HIVTAT ISTTT BIehieddl g-dT FTRATd FaTd HHl 3Te?

OREEIRE] (2) IFBOTMS T30
(3) ™ (4) B
According to Census 2011, which of the following states has the lowest population density
in India?
(1) Mizoram (2) Arunachal Pradesh
(3) Assam (4) Tripura

26. 2001-2011 AT S3ThTd TRATH BIhEAT Flere &2 % UdaT gl
(1) 15.99 (2) 17.64
(3) 18.64 (4) 16.00
India's population growth rate during the decade 2001-2011 was __ %.
(1) 15.99 (2) 17.64
(3) 18.64 (4) 16.00

27. SIS S fuideht sivrd I 31e?
(37) 2001-2011 IR HERTETA =T {57 I[UIRTA JUROM e U= UTHIOT A 9
EIs
@) YOt M AT ORI 2TET T AT 7 Sgiehe T IS TR ST,
qITT IR-
(1) &th 37 (2) ®h &
(3) ST oF aTfor (4) I AR
Which of the following statements is/are correct?
(A) Between 2001-2011, Maharashtra's urban sex ratio improved but declined in rural areas.
(B) There was an improvement in the sex ratio of the entire country both in urban and rural
areas during the period.
Answer Options-
(1) Only A (2) Only B
(3) Both A and B (4) Not both
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28. 2011 =T SIRVHIAR, FERTEAG Bha=T FSegi R Jg IadT i HIoTdT 3Te?
(1) TeFRIeT, Riygst, Emar, amree
2) Rt TR, e, amrm
(3) F&met, are, srefrie, Riggt
(4) FiER, Ry, sefrie, e
According to Census 2011, what is the correct ascending order of district population in
Maharashtra?
(1) Gadchiroli, Sindhudurg, Hingoli, Washim
(2) Sindhudurg, Gadchiroli, Hingoli, Washim
(3) Hingoli, Washim, Gadchiroli, Sindhudurg
(4) Nandurbar, Sindhudurg, Gadchiroli, Hingoli

29. 2011 AT SVHTAR, HERTETAIG fSlegii=n a7 Tt IOTRIAR 909 Jedl shH ShiordT
ATE?
(1) DT, JHETOT, MEHGTTR, SIS, S
(2) TEASTR, SIS, e, HlealR, SO
(3) §IS, SIS, JEASTTR, BTN, hHiealdR
(4) SIS, STHE, BRI, hicaldz, JEASTIR
According to 2011 census, what is the correct ascending order of child sex ratio of districts

in Maharashtra?

(1) Kolhapur, Buldhana, Ahmednagar, Jalgaon, Beed
(2) Ahmednagar, Jalgaon, Beed, Kolhapur, Buldhana
(3) Beed, Jalgaon, Ahmednagar, Buldhana, Kolhapur
(4) Beed, Jalgaon, Buldhana, Kolhapur, Ahmednagar

30. TSI BIHEEAT GROT 2000 < dATcehled I HIVTd Bla?
(1) AT T 15 ARATATST TRl HAT TET HROT STTOT AT TR JITi=aT RS goT
FHOT
(2) THOT YT SR UTORATIT UTcTedadie AT T,
(3) AT ATEAS BHTHIT AT H0,
(4) 2045 TIT Brehaadd WA AT HI0T.

What was the immediate objective of National Population Policy 2000?

(1) To provide integrated services for maternal and child health and Meet the needs of
health infrastructure.

(2) Reducing the total fertility rate to replacement level.

(3) Achieving Universal Immunization of Children.

(4) Achieving population stabilisation by 2045.
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31. 2011 =T SIPOFGAR HRATAIG HTERAT THTT:

(37) ATIOT AITTAIG THOT ATERAT 67.8%

(&) FTE=T PTG THOT ATERAT 84.1%
TIFURT Do T TRg 312

(1) ®7h A (2) Bh ¥
(3) 37 M1 9 (4) Ier e

Literacy rate in India as per 2011 census:

(A) Total Literacy in Rural Areas 67.8%

(B) Total Literacy in Urban Areas 84.1%

Which of the above statements is correct?

(1) Only A (2) Only B
(3) A and B (4) Not both

32. 2011 AT STRTUHIAR 2TE<T 9T ErogT=ATal HArd w4l Tar <t . #T. Srehaa=i aar fhdr
T T 3TR?
(1) 500 (2) 600
(3) 400 (4) 300
According to the 2011 census, what is the minimum per square k.m. density of population
required to be an Urban area?
(1) 500 (2) 600
(3) 400 (4) 300

33.  HRATAT SFHUHIAR (2011) QWIAGUhT HIOTAT IS AHIOT ARG SToHREl Seadms]
TATd HHT 3ATR?
(1) STRT 3TITOT HIFHR (2) B
GREIE] (4) g
As per the Census of India (2011) which of the following States has the lowest percentage
share of the child population in rural areas?
(1) Jammu & Kashmir (2) Kerala
(3) Punjab (4) Haryana

34, 2011 ST TPUHIAR, HRATAIG HIVTd AT TS S Alhadie e?

(1) ufgw ST (2) FB

(3) 3T I 4) ER

As per the 2011 Census, which of the following states of India is most densely populated?
(1) West Bengal (2) Kerala

(3) Uttar Pradesh (4) Bihar
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35. WIGHIAUDI hIoTdl STiel SR Jbd ATar?
TIH IR FTEET &
(1) 1971-81 24.66
(2) 1981-91 23.87
(3) 1991-2001 21.54
(4) 2001- 2011 19.05
Which one of the following pairs is not correctly matched?
Decade Decadal growth rate of population
(1) 1971-81 24.66
(2) 1981-91 23.87
(3) 1991-2001 21.54
(4) 2001- 2011 19.05

36, _ W AT ST SBIehiAT e,
(1) m (2) ATHBAT
(3) YT (4) TSI
There is no Scheduled Tribe population in
(1) Kerala (2) Tamil Nadu
(3) Punjab (4) Rajasthan

37. BIhESAT TR THhIdIS 32T ROl FTTT A S IRAY BIHa AR
ITSTAT TR FITHROT hes T2
(1) RS AR syaeer 2) 37 = srazar
OERIRBEESIEEEEIN (4) Tedr a7
What is the Stage in the population cycle in which India is classified on the basic of its
demographic characteristics?
(1) Early expanding stage (2) High stationary stage
(3) Late expanding stage (4) Declinning Stage

38. RATAIG BIhEAT P VARG T2 HIRUT HIT TTE?
(1) FHT STER 3MOT HHT g &%
(2) I S T AT AN TG
(3) I ST=TER AT I JGa<
(4) TFURT T
What is the main reason behind the faster population growth in India
(1) Low Birth Rate and Low Mortality Rate
(2) High Birth Rate and Low Mortality Rate
(3) High Birth Rate and High Mortality Rate
(4) All of the above
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39. BIHESAT 91 MO ATHoTh Shraraadl 9 T Jae ATeS:_T T 1798 T Wl iohdent

o PR
S[UTd TdHIR HIS™?

(37) HIHEEET MHR I STogrATer Afas Haq 390t
CREEIHEICRIGECICH

(@) BHASAT b€, THIB, TR, Yod, SIEAR IT HRUMS & ard.
TSR HIvTd TTUT/A Fehrer 3TTR/ STTRa?

(1) Feh 3T 2) e T

(3) T 30T & (4) TASUSRT ATRT

Which of the following ideas about population growth and social development did Thomas
Robert Malthas present in 1798?

(A) Maintaining moral restrain to control the size of the population.

(B) Increasing the age of marriage.

(C) The decline in population is due to drought, flood, earthquake and starvation.

Which of the above statement/s is/are incorrect?

(1) Only A (2) Only B

(3) B and C (4) None of the above

40. RATAIS ATHHTAT (0-6) BRI THUT ArhaA e THTOT fhedl 3TR?

(1) 9% (2) 15%
(3) 13.6% 4) 12%
What is the percentage of India's child (0-6) population to the total population?
(1) 9% (2) 15%
(3) 13.6% 4) 12%

41. ST AtTs g€ ANSToATTS! Yeics gedh MR A Sidrd:

(3T) STHKX () FTIKX

@) WA OERGEEIEIE
qITET 3N

(1) 37 qoT & (2) ¥ 3nfoT &

(3) 31 3NfoT & (4) Bh S

The following factors are considered determining for natural growth population:
(A) Birth rate (B) Mortality

(C) Migration (D) None of the above
Answer Options:

(1) A and B (2) B and C

(3) A and C (4) Only D
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42. 3 FIHaAT A TT HIS hRERT 32?2
ATARRTS T

(1) 3o (2) ERTETE

(3) T gy ) T2

Where does the International Institute for Population Sciences operate?
(1) Pune (2) Hyderabad

(3) New Delhi (49) Mumbai

43, RA Ufed AhE=AT YRT HoTT I8 Oisd S gid?

(1) 1975 (2) 1976
(3) 1978 (4) 1988
India's first population policy was announced in which year?
(1) 1975 (2) 1976
(3) 1978 (4) 1988

44, 9T T OMER HATTYS e SRIUMR 9/ Hezniad T<zT SHiordT 37e?

(1) BT (2) G a

(3) STRY 3T AR (4) T
Which State/UT has shown the highest decline in child sex ratio?
(1) Haryana (2) Punjab

(3) Jammu and Kashmir (4) Assam

45. FIHIEAd HAITE qTE SAohes Uleey i foteg ShioTd STEd?
(1) BT, JOT, BIIAT HHSIMIR 2) g, ANTER, a8
(3) 31T, HaE, ot (4) O, BT, FPTgY
Which are the top three districts with highest population growth?
(1) Thane, Pune, Chhatrapati Sambhajinagar (2) Pune, Nagpur, Mumbai

(3) Thane, Mumbai, Pune (4) Pune, Thane, Nagpur
46. 2011 SFPIAR HERTEM {57 oM fohdr 31me?

(1) 940 (2) 921

(3) 929 (4) 894

What is the sex ratio of Maharashtra as per the 2011 census?

(1) 940 (2) 921

(3) 929 (4) 894
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47, RAWS Fgd A [I9RT SRIVTAT AT IUTIT FI0GTT ST BdT?

(1) 1962 (2) 1966
(3) 1975 (4) 1985
In which year was the Department of Family Planning established in India?
(1) 1962 (2) 1966
(3) 1975 (4) 1985
48. WISIGIHT HIoTd ¥ TYeh Y HAGH STFTAS b a9 = aifvd dho?
(1) 1988 (2) 1974
(3) 1965 (4) 1978
Which of the following year was declared by the United Nations as the World Population
Year?
(1) 1988 (2) 1974
(3) 1965 4) 1978

49. ST BIHATAT TIRUT,2000 T WTSGUDRT HIOTAT ST THIST 3TTR?
(31) AT~ YUTdT Uidadd Hraardl JAGISIIOI 0T,
O EIEEIREISERER IR IR IR GIE I G CE S E M AT
() BiedT Sgardl Jehed-T 0T,

gt 3TR-
(1) 3T STOT § (2) ¥ foT &
(3) T, F AT S (4) I9 99T =€ 3Ted

Which of the following objectives are included in the National Population Policy, 2000?
(A) Implementation of Prevention of Femicide Act.

(B) Effective implementation of Prevention of Child Marriage Act.

(C) Implementing the concept of a small family.

(D) Providing maternity services at village level.

Answer Options-

(1) A and B (2) B and C

(3) B, C and D (4) All options are correct

50. WISTHUhT YRATT JaWIH Hadl MIHT el RATIT hool?

(1) ef. 3. of. &a (2) . STEAr T

(3) . °i. . Ha (4) . 3. . Hd

Who among the following established the first Birth Control Centre in India?
(1) Dr. R. D. Karve (2) Dr. Iravati Karve

(3) Dr. D. K. Karve (4) Dr. G. G. Karve
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